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The table alongside shows the number of patrons visiting
an art gallery on various days.
Estimate the mean number of patrons per day.

Number of patrons | Frequency
250 - 209 1
300 - 349 34
350 - 399 68
400 - 449 72
450 - 499 54
500 - 549 23
550 - 599 7
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4 The parallel boxplots show the 100 metre
sprint times for the members of two — Tt
athletics squads, B
i
by 12 13 14
time in seconds
a Determine the 5-number summaries for both A and B.
b Determine: i therange i the interquartile range for each group.
© Copy and complete:
i We know the members of squad ..... generally ran faster because
i We know the times in squad ..... are more varied because
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6 An examination worth 100 marks was given to 800 biology students. The cumulative frequency
‘raph for the students” results is shown on the following page.

Find the number of students who scored 45 marks or less for the test.
Find the median score.

Between what values do the middle 50% of test results lie?

Find the interquartile range of the data

‘What percentage of students obtained a mark of 55 or more?

Ifa ‘distinction’ is awarded to the top 10% of students, what score is required 1 reccive
this honour?
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6 The playing time, in minutes, of CDs in a shop
is shown alongside.

b
a

Estimate the mean and standard deviation
of the playing time.

Draw a histogram to present this data.
Comment on the shape of the distribution.

Playing time (minutes) | Number of CDs
30<t<35 5
3B<t<40 13
0<t<45 17
45<t<50 2
50<t<55 2
55<t <60 18
60<t<65 7
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7 The number of peanuts in a jar varics slightly from jar to jar. Samples of 30 jars were taken for
each of two brands X and Y, and the number of peanuts in each jar was recorded.

Brand X Brand Y
ST1 885 878 882 880 885 909 906 913 891 898 901
916 913 886 905 907 898 804 804 028 803 024 892
§74 004 901 894 807 899 927 907 901 900 907 913
908 901 898 894 805 895 921 904 903 896 901 895
910 904 896 893 903 888 917 903 90 903 909 904
2 Copy and complete this table: Brand X | Brand ¥
‘min.
Q
“median
Q
max
QR

b Display the data on a parallel boxplot.
© Comment on which brand:

has more peanuts per jar
il has a more consistent number of peanuts per jar.





